AeTdleTeadTieed Aecded heree |
Agse o AREY o HET THEA TAA | HJEHTA:, 4-37

349, the author of ?H?R-?:lﬁf prescribes certain common / universal civil code in
fourth eI, that is useful not only in attaining ¢ but also in leading a happy and
healthy life -one should never stare at rising / setting / midday / eclipsed /
water-reflected Sun (this may cause myopia / 8£dg ¢ or may weaken the A3ATegId
) |

One may look but should not stare.

The gamut of sentences can be put under two headings --faf®or f&9¢r (do / do not
do ) -- the rest of the sentences fall under FI_J?ﬁTﬂ?: or fa=erdarg (commendation or
condemnation) and get construed with f3f&r or fwe, as the case may be.

This is universal.

dreg#H is the unit of a language -

if the meaning is short then a dTFdH ( sentence) is employed and if the meaning is
large then a H#gralFIH (discourse) is employed .

Any stretch of language beyond a sentence is called a discourse .

if a group of 9g-s / dledldiad-s denote a single meaning / purpose , and if , when
separated , each 9cH / Adl=ddldH is found to be wanting , then that group of
9c-s / AdledldlFd-s is called a aTFIH /HGIATFIH --

¥fercarcer ATl HHTSET Ul T (I Al § 2-1-14-46) (FFAT and
3T/t are implied , so not stated by Jaimini).

HETATFIH_ has no limit - it depends on faa&T -- ‘quierd quidgd ar (FATRe:
2-1-14-46) -

JATIOTH /| ARAH is a AT H (ATfgcdeuurd-2 ) |

Sabaraswamy (6-4-7-25) says the following --

T AgATRY dfd 3dleadrdd YA Hafd, IeleaRed aTeeATd, IUT
AcTeaATeeadad 3fa gfavel I FAETEIT, HaledaradTd SaTuTaeTsT|




What Sabaraswamy thinks is — Tfcqqde! f§ TS - if there is fafer then only faser
- here the 3aTecRATEFIH, 3T ST, denotes A it is an faaRamFTH
because it has got HTRTSETT with another 9&H * & -- so , AlGedATIGCIHIIT is a
FETaTFIH|

Otherwise, there will be €T to the word '’ |

Kumarilabhatta , in this context offers a simile --

AT IAlecRATeale HETERIY ITHAIVH, HEHEAN 39 Aol §did|

There is a HETHEAT -- 79,94,368 - in this there are 3dl=dIHEIT-s such as - 79 -- 943
-- 68 -- can these be taken as YHIUTH? No - same is the case in language also.

Here is a sentence in the Brahma Sutra Bhashya 1.3.33 of Sankara --

) %WsWsmmmwaw JUFIAIhcdHET; TUT ‘o AT 3fd
SI>afd ardd qqalqaa—qo—iﬂw?-mﬁ@fiﬂ

| cited this just because of the very close similarity it has with the Sabarabhashya
cited above.

greplaTeFa# (question and answer) also falls under HFgTATHIH . Here is an example by
Bhojaraja in gemyeer (8) --

ool | 1Y ? faese AT &9 QueHar f& wdd ?
WereAry | o A'Rreafd o7dreT , ad orer AR |
dfcer AR e aordm ? HEIRIAr Tedd ?
eddeHH | I JATTEH ? ST | ATEHTCIAr Sead !!

The concept of Ag@FIH in del=d is , in fact, secondary — acaa & (BTeal. 39.6 ) is a
aTeFgH pregnant with meaning of the entire 3afawd - so following 32eiika it is styled
HgTATFIH — not due to 2rseeiikad ( like THIUTA etc.) .

SR / SR = 3Tl e
SUTATSTTEIROTH - GIHHTET ( A2 UIG:2 JHTHOTH 4 FIH 9)
oA TS T (TAYETEEH)

GioTATEA = just like the word GIOTHTET in fagacareas; 3YTETST: = the word

B'QT%FmGralso EITd = becomes qwu—w-lqlmdqquwl




Al dr2-6-6 ( GRIOTATHATRTRIOTA ) -

SIfA a1 TdeTa1ey fohad Agaasdl qRIsTe, wamaaﬁn%wmwrm
mmarmm|mﬁﬁtﬂmﬂ TSTATaSIRCai |

(TSf - does not denote a fafer ; Isee: - denotes a8 ( TeadeaT=aR: 1, 3-1-96 ,
STTHITCTHTAY e o1 3-3-163 ) |

Here is the question - is it that the sentence ' 5‘-II‘\’I€4Io1H°'d{I TSIt is an 3fejdre of the
YehdAMT-s, which have got fasoy, gemafdand 39ASHas adTl-s or is a fafdiof a

FI?F—I’JI?T’?

The qa‘crfﬂ is - following the term 3‘CITQT it is an 3eIdicof the three said IMT-s . If it is
anew IMT then the TIRYH of a 14T, Te acdH andoé\ddl (according to FHAMT) are
to be mentioned . Therefore the term JUIRMATAT, is an 37e]dle; of fasvaTi AT |

Another point -- how come this is a AT that is a [afer of a different ITT having
3‘C|T%l_cD:r asa ETUT’? the question itself is untenable --

here there is S|mply a term - 3UTRMATSIH - which is an 37egcYeeT - such a 9¢H cannot
become JTTTIUTIFH - if it is TPHILTTF then following the

o=, 7= mﬂ'ﬂ?ﬁ 7-3-52 , Fca# will be there - then there will be the term -
3‘C|TQI'€I'I?TI

(AT AT °T 7-3-62 -- here due to the term JATS, it is applicable in the
case of all TATS — SHedcaTTH! el TEZITH is HHATETEE - so since ELINRIE)
is an 31397 and not JWT / T the FHcdI¥e applies -- the fAdTaersgis called Wﬁr
by FHIHEF-s - ATETHTSIH, ﬂarﬁam etc) .

acUedqaH --

~ o ~

NEATAT I hclcdlcd

ANESATdT = w&mma%ﬁrqmaaaswqm 3Thccald = 39shH Tasuarfeamam=Ts
Jifafgdcardl

5qi‘\ge4|o1a-|rd<| IS - is not an 3feTdle of fTAsuaIfeaTeT but FATTATIUTIH|

'SR T TAST=1EA etc denotes that - if TRISIRMAITIT-s are performed in succession
then there will be STTRATEIN( the defect of delay ) to YT

Moreover, %WWQTQTW etc are 379a1e-s but not fduTIH-s - they are for
Hﬁﬁaﬁﬁr—sqmqldﬂrdu TSifd is the only fatIRarsa# | If you say that
fawaﬁa'ravzr -s are also faemaes then there will be a defect called aTFIdG
(FHTAHATFICT ATFIHEE] AT — FAThallciehd] , TeaTH A, 9 )|

So in order to avoid TG — HTATAR Ao’

qamﬁaWW?ﬁW(m T a1 maaﬁmwmwmem ey
AU ATGY: o afd sfa areads




In qdHATET (erarfdens, ATeestars:, 109-112) -

(o

(k’d{-dba'l‘;l('?—liN-LIdIE\’alI(‘H-Glc'lcdd\QlIquldIJ,IC\IGIH:IJ-IIUIIGIIEélldd-do'lcdd?lqId
I RR AT ST AR A fFsEy) --

AT T FATES T HUTEE DA |
TR ‘HITOT qdese mﬁ%rll
QeI o IRATCANY |
mﬁﬂwﬁwﬁfqﬂwlm oI Foecad |
gedTeaX FANTOT T QRIEITEAT T HRUTH]|
MY, .......... I

Patanjall underf&3ATH, UT4-1-3, while discussing T3 TTCI e TageTeardey
- takes up WFIWTW_?I&?I?RTT and ATt |

In WATIER also he says --

Hdldwnqmqeh QHT—IT o7, HddIHI{ovdch I

AR 3 ST |
TSR in ?\ﬁﬂu’mﬁwﬁm -

HISUEATE EATeT: QARSI |
Ty a—wma’r it WWQT@T I

So the difference between Kumarila and others is that he wants 3TellddshH to be an
3cI=drfd and he extends this , i e SEEATIFIH as a base of STEATeIFAH, even
to Y fciof ATET-s .

Bhartrhari , in line with Patanjali , uses 3TellddshH also , to prove that even if
something is available to YcT&T# , it is THLAT as per HTATHAH (AFIICIIH,
qIFhIvs:, 291) .

So the term 3TelTddshH is used for more than one purpose in geie-s .

HTelTeT=Ishe - is not a correct usage — AIHTATHTETT dg addia: |t may be a
HERIETE |

During &I9Taa& - we used to collect the dry sprouts / shoots of a male Telga&T(
palmyra palm) born on the top (in the place of fruits) - burn -make powder - mix with
the powder extracted from a dry coconut (by peeling) - make a round pack with a dry
cloth - place in a three-stick panel - tie a rope - and rotate it after placing some
burning coal on it for a few minutes -- then we see a perfect ellddshH - a cheap
and best item ( salt particles are also added but not advisable ) .



It is not a FAH rather a =TI ( norm - 3TETHNSF:), often used across ETs.
Bonus Info --

HAFAAIANITETH --- q{HdHﬁqﬁrﬁqﬂ?{y@qﬁ Tafy (3R - EW )
3H&T4Ic was offering the oT&T0TH of HcI&TH --

slegardafassfcdes FATTAITICIANATHAIN TTHITcHS TcT&TH (ITIGAAH
1-1-4)|

sfegard eI Yoled AT JceTH (dhads:) - is taken from this .

In the above &T0TH, ' HH is not mentioned .

Without T one cannot get ATTTH  |Here is HAgTATSIH ( Wigifere, 3-2-115) --

YAl FRIIAGTT TAATARIG ATTeld [TGIAT ITTHIVTAT AMRCTAAT IUHTIF
3T Apeard Aledagord |
ﬁsgfrr.a:m HIXTcTISTT TIHTADIS ATTATA?

HAHT TgFATeA oo o7 3Telstil HRONA sTafed, Held: 3T aTd |

("SITRIOTIATH’ - is used to show that he was not ‘&’ - Fec#cdl: A dlicies |
EI?ZIT:I'FITT?-T-- so first it is HI, then 3f=gd and its contact with 3% - not HeTaT

Wﬁgﬁaﬁ)l

aIeEATIS in his TSI ( and aTfdee as well ) initially tries to defend 378491 by
saying — TRCITATAET YcATATTET A1 [ReTd 3fa FAAC@=AFd 3fd (this is not
tenable - 'on a par with gcard T’ |

At the end TTcEIIT says ( ATIHATSIH, 1-1-4 )

....... AATATTEIATATT AATTT ATV 3fd, dAeRAAIRTTH dcTcaded# afd
WRATH IANEHH HTATH 3T ¢ doag i |

(AeagFd: = a3y AT ik / {f: --Aifah:a1 J &)

Here it would have been more appropriate had arc&dTd«T quoted ' 3-1?-IT=|~?H=I_€IFIT
TMETH ' as FALH is said in FRATTHeLNTH ( 3] He:etc) -- HHATTd=AcaTd |

WNT%[%W is +d+a|q+a|—-31|«s¢|l<qn| - a7 RMpedelldT--
RRTagedIATIATar ... |

The =T 'HAFAHIAAETH - must be an offshoot of the HHHIT --
Sl (HTdcREaTFa#)|

(S



TAGHAOIITGAN A SFATTA TR (AT T AT THTEITIT: | T TR oI IS A STl 3T
—zrrﬁmwﬁmra a@ﬁﬂﬁaﬁw AT 3R |

TSI SRIhrgea TR idam J Arergaicad sfa faae: |

SYHERT ATH WA eqed faAS [N s (7  SUShHTHENAT: I ) -
" grATI A fOETSe: gfigdd fadva: "

7 eReEAfAf: FAEafafy:, Aafwarieysoraeg Ravfaf:|

IOTATH 3THER IONIHER: |

FoeTToATd ETATE T RIFTATIRI 7|

facaefEdesTsead Jifasgrieehaacd |Ihcarg-edfd:, 3-3

dgdey a1 FTIEdiFd I8 Aracaaiicds |
Wm%mﬁﬁwmmllam

37 AMATIIET T&T:’” 3TRIFAIET: ﬁml
TATTIrsTdTe -- 3fcY g O I JHTOTcdeT TalTshdd fohel | dEATH ATaAseHATT &9

‘STa3eEar Jrerrader:’ mﬂl
qémhﬂmm

3-II{.,€4I('IIo-IIJ-IdT?fI'§IGIdI Qlﬁ?r'\ﬂlmﬁ'ﬂﬁ gﬁ%nEITSJTWUA -29) . ATFALT ATATHRT
ORI —SfIseIAe FaerHRRed S AfaareieT o TaET STeied
RIIGEIGRIERRIT AR WW@W@T&HI

mwmmqﬁ?mﬁ?ﬁanmmlmﬁm%wnsw GENRCEE

oﬂdleud Staferga: W%W%ﬁﬁ-ﬂ?&ﬁﬂ%r mﬁwﬁwalﬂwﬁﬁﬁﬂ?ﬂﬁ
RIS TIRUTEY I3TI'€I'R=TQEF RRET AT 39T O

37 U9 ¥ JaHHART fAcaedATeTsadEd JURITFAEdIR: — Toedl HAAT €I,
mﬂmﬂ%ﬁ?aﬁﬁ—maﬁa@mﬂmﬁaﬁmmw AFTS
sfa AraeTAdd|

AEATTCEY: 3RIeFueT 3T

*kkk

UTEAITCAET T TANY [Gehed:T1d, AMEAUT HTTed il THAREENT ATEATAET
K R EINIRIEIGE
- AT ATA TR



Hifeafata: 9T I7 sfadsdie: — aalllrdHQC*d{Idld gIfCaEde [AveemeaTsg
T e aTerehrar 72t 3-ic€40-dlo-|ddcl')cd TUT AREATHITCAE S M o
Hhediadciehcad, SHARTT HfecTHTehcardTds]

JeguTATTIC A $1Ta: (this may answer your next question also) .

Example — 5T hel>THETAd — hel>THETUTH IETICAH ( hel>oiH = onion).

As both are prescribed by dg, that is 3T9eST , neither 3feRTS WIS IE0Mid nor
AR SR JEVNTS is HTfedaqerh| So o Icdrastel to R by gfase

Try to understand the problem --

FATERAr e (AARUTHA -2 , FEARISIEACEH) - is a Vedic Injunction - so
the HIATHSS have to see that no single letter should go waste . For that a number of
devices are applied.

Therefore, in this case they followed fd%ed rather than 1Zl'é_i"c'\'l'\trl

For a complete understanding of the scenario one has to go through the 3T-ITP?jTr

of HATATATITRIT|
You can take ' STASCIAA TIHRAT TAT - this is a dFETHH - not performing that

will not generate sin.
AT REITcHaT et - is a fAder|

Both these sentences are TIEIRTAIVET -- but we do not call it [FreT|

Here is an important point with regard to facashaTsarRTH --

HHATRC says - RS P2 3| S otz [ ﬁ?ﬂ?ﬂf\m&da}uoﬁ TcaaTg: (419H) |

QI in several commentaries refuted this @aﬁn—cr and questioned - how can
there be any 919H when there is no &# at all — he quotes SETATTAYT - HUH

H_cl'l'il?-r and clarifies that this norm is not applicable to H=aTT8e(s (HTaceidr,
3-1) |

A scholar can do justice if and only if he has got the knowledge

OfIGATFIYHTUTRITESS, Viz SATIUTH, HIATHT ([AHIHATH) and =rrd1¥e|

The definition of a aTeFI# | AGATFIH is offered by Jaimini in HHET (37€a72- 9T1-
31fer14- q46) --

3¥Fcald Teh dTFd HIRIGET JGAHT FIT -




This A is in IS[:IRATUMASIOH -- F:means dTFIH| In Ts[de we come across
text wherein it is difficult to decide as to what is the length of a ?:IGT —fhace I9]: 3fa
T AT

'gVcdlolcdl dIaEY ... (beginning of FHEURISIC]
This §IH is useful in deciding the length of a TH]|

Kumarila in a—aiaﬁa»—ocr under this FHsays that this definition is useful in ag as well
as dieh — HASTEHOTelIhY Jercied FATag el |

This is the origin of aTFATIdTTH|
Thisis a ﬁéﬂ?ﬂ{that is universal ,i e applicable to any language. Just like
Panini's ®R&YHAT|

Notice one thing - Jaimini , deliberately did not insert the term "9c#’in the I -
simply to make it a common definition for a aIFJH as well as HAgIATFIH|

If the meaning to be denoted (speech or writing) is short you employ a drad#H,
whereas if the meaning is large then you go for a #gIdTFIH |

Visvanatha also says — aredi<aal Hs|q|crqa-| 31|<=h|s&|||q gebdud, I4T

THARUTHRRYALnfe (Ffgcgedore, 2-1)
Any stretch of language beyond a sentence is a Discourse.

The term ‘3% in the above SITATAEAA has got two meanings -- ' 2sard’and
Repicced

" if a single meaning is proposed or if a single purpose is served , and when
separated , if the parts are found to be wanting / expecting , then that is a arg#H " |

?ﬁ:BT%Er:W:EQ—T-ﬁ- no single meaning is denoted nor any single purpose is served by
this group of words - and when separated none of these words is found to be
expecting - so this group of words cannot be called a arFgH|

Y: - what is he doing ? Tafd|

gafd - F:9afa? I |

So dT:qafd - is a aFTA|

But Jaimini mentions 311341 only . what about J9ddrand IfeAe ?
They are implied .

No sane person says —d7:afgstelT &safd|

37TRTSETT is to be put to rest whereas I lives on .



If one says 'd:’at 6 am and ' Tdaf’at 6 pm it cannot be a ATFIH]|

Similarly if one says the following - T=:'$7MMTdee HeENTdeg Tdfd - it cannot be a
drag#H |

So there should not be any lengthy pause (time) or interference of another &afet /
ersg, in between the words of a aT&Fd#H - this is called Tl |

In other works --

HATH®s also say --TATHCIGRI ATFTH-- GHATHSATGR: = ATHTIH-- if two or more
words are pronounced in proximity then it can be a drJH| Obviously it happens
when there is 3THISETT|

We come across two definitions of a aTFI# in FGTHTSIH under THY:UEAT:
(912-1-1) --

AT ATCTIRRBAAVOT qFTH and THds drad# |

But these are TIReNNhareFIeI&Tol, exclusively useful for some (eI HCTACIERT:)

grammatical applications.

For every &4 , it is the SfATAaTFI AT that is to be taken as JHTUTH]|

3TEATARTee  guTd: S garda fasi|
T ATYIRUE, ShAT JeeTTHE (T |
Wtrwéqamaaﬁ—aﬁl
Wﬁﬂﬁﬁ?ﬂmwﬁﬂmum IFIRIUS:, 1,2

SATIATEHATH = GAHRIOTH

Hari summarizes the different definitions offered by different systemists for a alFdH

dreFdH is of two types -- EUUSH - TUUSH

q@UsH -- 1 JfARAeagars: (SecHATSR:, AITAH: ) -- 1.9GHUTd: 2.9Gha:
2. aﬁmfmnm(mqmmmma:r)—
1. 31T UeH 2.GUTFHd TS HIhISETH 3.3TEATARIea:

3QUSH ( THIC: - AYTEROM:) - 1.JETH -- 1.2qfFd: (Toh:3-Ta9a:Qeg;:) 2. 371
(HETcataeTatTiar:) 2.3 - a’crtm'a‘z;f?r

1. TEITALNS :ATFIH -- The fohaTarashucH would get connected with &Res and
generates a ATy that denotes Fgfe / ﬁaﬁn The rest of the words would create a
TEHR that helps in understanding that this areme is different from other areFaTes .

2 YeHHTd areFg# - aeFary is denoted by the TREWRT=aZof Ues and such a TGHHET
itself is ATFIH|
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3.gcHgTda el ST aTFIH-- ‘Gacd GUsHl 31 37T’ - while pronouncing such a
aTFa4, the auls, which are €afels and also 3ifaca and S&T:, are not available
simultaneously . Then a 2Teq, that is different from the 9¢s such as ¢ded, also e
and 317944, is revealed . The same is 9de& and it is nothing but STTAFIEHIC|

4. Uh:HAdYd e dTFIH -- gufs and Ucs are 3TTT A ¢Teg, that is revealed by those
egtals, [T, [AURRET and T, in the form of THIT is |

5. Yeeha - dTaa# -- According to these people — TUITT sheT: UG, TGTAT shol - AT |

6. dC\uJa-N-ISN aIFIH-- The % (sequence) of duTs |, that is there when a aTFIH is
pronounced clearly is not T€2X (stable) . Therefore, a scdcdd, that is there in every
910 in the form of 3TedRTcAT / =ddTaT, takes place in the aaﬁr which , although
does not have 37&RTAgTs and T&TIHTT, but looks like having the same. The TFRUTH,
that took place due to the §¥#Rs of such aaf‘th is a aTFIA that is [T and
g, and the same is AT | It is a ATFIA|

7. 31|qe4 U¢ aTFgH-- It may be a fohaT or ATH, the U that is employed in the
beglnnlng, is the aTaFof the areard | It indicates the rest of the connected 372s also
as fhaT and RS have got an 3ifaaATHTGHs=¢T | The rest of the IGs will be useful in
clarifying the #¢ with other araaTss .

8.9 HIehISeT Ue arFd# -- All 9es having TRER-ATIET are Tedeh araehife |
Hari quotes Jaimini (37&&carceharea) --

ATHSETAId HE, WRIATRISETASGHH |

HAYTS 0T Uehrdf ATFIATASA |[aT I, aT i, 4
HATTTH = FHATTETH, J[0Tad = favorafRas |

kkkkkkkkkkkkkkkkkkkkkkkkkhkkkkkhkkkkhkkhkkkkkhkkkkkkkkkkkkkkkkhkkkhkkkkkkkkkkkkhkkkhkkkkkkkkkkkkkkkkhkkkhkkkkkkkkkk

TATgeT# = SISNTER YT |

If the Gl is for some limited period then there will be fa@ateT at the end . If there will
be T?I_Jq\_ﬂTjust like in a &arerd then there will not be TATST=T |

IUTIAYSTif done for one day (3 times ) then at the end of AT there will be
Eroey

If it is for nine days (sTaxTaT:) then there will be TaHSIsT# / 3aTH«T at the end of the
last 9aT|

Same is the case with any YT -- dgeheRaJalletc.
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AUTHISaTa=1# is done with the same He --- T JeREATY T&]:eT-TT0TTHG=A! 9T
A ...
Others may do with ¥ellshs.

says - one has to do ZH_aITiﬁQ-TlTUﬂT while reciting the HeT|
There is not much difference (may / may not be =¥ etc) in the procedure from
Kerala up to Gujarat / Kashmir in STSMUaRYSTT|

*%k%

YMIEGEY HIcITTAT HAETATH --

ISl YIHSATIdeRTErY 3T aTdl: fasyeae F1feish: aRANTET geaeadaamaey
H+qnd|drq|uwuw¢aquq-a—€na'aﬁﬁb?€mmﬂ$mﬁmwmﬁa‘q
a?%w-ﬂﬁrq?ﬁ B CICR ERI B B C I P E T CRL bl

TATCCTIEITIT — 37 UF godeadTedTaT:aT: |

SaAIEERIeT TshaATuT-FaEdcdioigcdslehell SATIR Td AT ST HHHIETH|
A [ASSCUTAT: TUCHRIETT: euaqwuqldreuqo-d JdA Ao | 39faT

WI’U'IE)D?T{-CIIGI*NHEIMI B | Uﬁwaﬁﬁmm—ﬂ = |
U9 TATHRAFREAYS AT H ITIT T7cd T A | €T Tad:facueard|
%Enm?mﬂ?r%irl

RfReeoetEaeT RY: e add e -
%@Wﬁuﬂqﬁ?aﬁl

dF Ig9 T 9Ied IR Mad || sfaaAasT |
37d UG SEH AR T Jecariv vdfd aordeda |

memml
SeNT A Teded SEAFHATATISIA| (this is from staracaNar, 4-24)

There is dlfference of opinion as far as IWET and 81 are concerned between

HIATAATHT and TEHATATHT|
HNargsET aRsPR: -

qeTcdel glHcAA (H?Jﬁﬁé\‘ci?ﬂ 3?:%%21) GSICNT: YTelcdel, dET GeaTy
AR AT AT ( 3rTaT:) WHWHW|WWWWWH

g |
So gl is an 31397 in a IT9T whereas in g1H- 'GacaRTIATT is THT=T |

STCeGI e ( 37eT3 UT3 3718918 ) --
aTfcieReh e 7 ATTEIHAT: 3G | ATTADIAT Gacligg A dehgedcdrel Jaiargareh Iiot ’

TEHANII, Saceg geacaeTHEy FHAYLTAY ‘SElfd Faad|
qﬂtmmmﬁaﬁw Wmaﬁaﬁ%raaaﬁmgﬁraﬁr AR
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arfdeserkmeans Kumarilabhatta.

kkkkkkkkkkkkkkhkkkkkkkkkkkkkkhkkkkkkkkkkkkkhkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkk

*%k%

HHGhs resort to IITHAAT in order to prove %lsai?lcacaﬂ\ ---

Ary ¢ded: - is an example of YeITHAT (in all AMETs ) - this is the same Devadatta
who is seen earlier .

In the present case it is - §'F 3R - unless and until the IR is e, how can one
use the sentence - AT IHR:?

(This is the same 3T heard earlier)
AT ( ATRTIcIhH - Ase A TRIUTH - 366) - quotes a =T --
dTacerTel T8RO &: qedTeATIRAsafa

(TTH = s H ) - the Asq was eternal / immutable till that moment and who can
destroy such a 2Uecq later ?

JafH T is SfafaAdew=T (depends on ST which is facd ) - deifedsts and sigers do
not accept 1Tt and for others it is facaT|

Another dimension to this argument is that Panini is brought into picture

by SR, e and FAR -

" HEITAT: R ATSATG AU Fea =’ (AT 5-4-17) - is a IIHA that rules Fcag=icad in
the context of repetltlon of a %TI

¢ded: 3cCehcd: 343? (Devadatta is eating eight times ) - is an example . Here the
same fohaTi |s repeatedly done by Devadatta.

There cannot be any 3T without resorting to any ged# and therefore the gca#H is
e (it is called Hed = e fed3r AT SATAIOIIHRAT:) — HS: JHUTTEeh: CaTF: |

Look at the usage -- 3TS¢ehed :aNeAee:ITAR:( but not 315¢l TMNeAser:3TARET: )

Have a glance at the text (eliedTiciehe] with =IRRcITRIITEAT of IrIARTATHY) --
ofe] TaATY TATRAcaA fAgeafa, o fAcacan? 3 -
dridcentel FEUR def & qATeaATI AT |
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e 3eTdeTcadd (91 1-1-21) F&Id ST -
IeT9eTcaAVT deddcarafasad | 366

HEATHTETC (51 1-1-20 ) | ' 375Cehcal aMTee ITaRA 5id g agfed aArsel aiersar:
(METHTSTH) ST HTSTH, TEITIRITIHTE -

mlaamaﬁé%ﬁmaﬁwml
SIS ?J'q'cu—q TecTAadd ShaT1367

Ay FhAFA IO i peagodcaa: ¥ T fharadmerag #afd, a1

ctacqawcqquldlldwq ‘-Idl'ctJNdehcd{-lbqv{-q JASTIRUTH 3-|0'|G|<‘Id sfal

kkkkkkkkkkkkkhkhkhkkhkkkhkhkhkhkhhhkkkkhkkkhkhkhhkkkkkkkhkhkhkhhkkkkkkkkkkkhkkkkkkkkk

Here are two terms: 3TI%T&‘R’I’CF: and ?ﬁUﬁH‘ﬁ Are the two different concepts or the
same”?
The term 0T is used in the sense of 3TFEN | EQIUIIaIE!I(-r:?ﬁUT: — g Mol gia: |

The origin of 3o lies in FoTATEE] (FFT1-2-1-10) - IrdaTeTTEHRUEH| A detailed
discussion is available in aﬁa@ﬁﬁmﬁw

afcre - ia-areca-gRiar-s7A-Torgeraaaran S TS (AT 1-4-12-23)
Sabarasvamy discussed the six items with examples --

1. dfcagfer: -
deT JERT AT ITATTET HRITAGT: — dITTHI FEARAEIIIT: |

There are sentences like - TSTHATT U], TSTHTT:TehehUTel: etc (f T 2-6-5). IER: =
a bundle of &3¥s.

Are these sentences [UITAUTIHITT or 3raTer:? A FOTiAf is for 3qaTSfATEr and
%ﬂ?ﬁ is not useful. The sentences are to be made. useful, so they are ?!WT%T‘:TS -
&at: |
Ifitis accepted that they, TsTHTTand 9EAX can be exchanged. But the fact is that
neither can do the duty/&# of the other and a number of faf®rs will be affected. Itis a
TMUTSRAETas FER and TeherdTd are fulfilling the 378fse of oA | By
is possible due to IUHE| So these are ¥dres -- FAgHa: |

2. ST --

AT & FTEAT:, Vel Asled:, ARAT 4v@ed: (o & 2-6-3) - are these IUITATs or
31¥dres ?
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Tuifafers is gauet| fafregiawarcaa vdr arerais fdfed —3ifadest
YEFT TGS 33Ty, STEAUITEY Ssed | 33ad JUTaTe: - gy |

3. A& --
AIECIH = ATEIH
ISTATA JU:, 3T JU:etc — FYATITAUTAT TeATeRn T arerdTiat OTIAERT: - JaueT: |

ISTHTeT and JU cannot perform each other's duty - so following TeI30T they are
319TaTEs meant for AT IsTHT is tall like a JU, T is oTuTell like 3R - so
in both the places there is mmﬁmfollowmg both the IOTs - Ao |

4. 94T --

379RIET aT 37 INITRAFT: GRIAT IN3TET: (f T 5-2-9) 33T aT UY U HTAT, 37T+ ar
TdcTGea=alAdA etc. Are they J[UTfaf¥s or 3rdfares ?

BMIELRE qdeT: |

Fitis said that these are HUTfa‘f?Ts then only cows and horses will be 9Rs but not the
rest. Same is the case with others - then the fafaTas connected with these will be

redundant - so they are not [UTfaf&s but 31dares - AT |

5,373 --
3T = AEETH
FEBUCHT (d F 5-2-9 ; 5-3-4) gcaaﬂtrumﬂ (arranging the bricks) is being done .

In certain instances, it happens W|th {-II“CIc-{SdIOhJ-Io-alS and in certain places there will
not be similar A-Fs. But A« shows as if in all places of SSCHITETS it is happening
with gisefergeraraa=ds only.

] 2

2 HW—I&%TWSEIEHT% ( one should arrange seventeen bricks) - here there are
fourteen {-lcludmsaldnqw-als and three3-|+||°¢|«sa|dna-|o->|s Nevertheless smce there
are more gfciaigalhdA=As the m@ﬁm_ars are also said asulwclcqsacha-lo-ds

(&

tSléi)_cpere eI (5-3-4) is a IUTATE or 3HdIE - is the question. F[UTTAT is
atl

If JoTfafer is accepted then one has to apply a a9 - these are feefergaa==s and
others are mgm_ars But in bricks, no such a dlstlnctlon is seen. So, itis an
3-F-|T:I'I'd' of ?Fl_ars in 39¢TeT |

6. fergargHar: --

It is just like the earlier one — EITUTSFTB'Q?:T%]T% d & 5-2-10) is @ Fe A —
3SaERUeYld is another #F=T |
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Here there are more H|U|a+|vﬁsa|a-|o-=|s and less %ﬁgmq—ars So, following the
number of the former the term JTOTSTd is employed for ﬁﬁl‘sﬁm_ars also.
Both 5 and 6 follow &A= — Gﬁlﬁ’fzrﬁ only some of them have umbrellas.

aitofY is different from &TOTT --
deFafdea (1-4-12-23) --
3T Jftoar gaRe AfAAATRT, 7 defomar: | fraerafer fa? seafed g

HfFTIfAATHA JgfreraTosaa|
FEFAUEUIITegRRSeT o More

S

G T H--

Mol is not different from eT&ToTT —
'HE;'CJ’{UN'EI|°'|dIC\2«€lde-Ilo'1‘€INUN-IIHI‘-‘QQIJIHI?‘IO'III‘Z‘I‘-k'ila-tll
am#vmm%mrﬁrmq

ey [ dguaR: (o-e-lle-N-hIJ-l 2-2-63)

SITHIOTH -

~

Mot s not different from SI&TOTT --

q‘ﬂ’l?ﬂ'c:rcamm4149) T Teh: IATEHST H: ' gl -
ATcELATATCHF AT ccam e chIStMId| H>T gHied , AMaTéieh: , ey a: Feclle]
a9 |

TMoTHETA: &I HRATIY: (3T GoedlHAAT:, 8-3-82)

MR (wfaufesre...) --

gieq AfFdeiaron =it  FaToTeasidr quear &

QeI -
AT I EHAhI&TUNT Ta TNuficafAT#TE: (this is clear in de=dTicieha)

AT AAH - ATHIITSTH ( 4-3-13)
HEIINUERY HEY HRETA #afd

In &eh, AR ATIHT YHUH| But Panini, for some purpose wanted @I --

QEATTHCYH ( 8-2-1) — ATEAATE hcfed W ARHA Ay FI1d|
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Actually, TS fgedAT afd| But 3figucarid on fgtcas|
InTﬁUﬁaf?r - 31T AATUTdh: - aﬁa—cﬁTUTR’mmmﬂTW| It is an 379%9T¢ and not a

fafen
In 3BT - qa=1fAgyH is fafe, not 3rdfarg|

kkkkkkkkkkkkkhkhkhkhhkkkhkhkhkhkhkhhkkkkkhkhkhkhkhhhkkkkkkkkhkhkhkhkkkkkkkkkkhkhkhkkkkkkkkkkkkkkx

*kk

e -

This concept starts with IT3T -- there the TSTHTT has to take &T&IT and the wife is
considered as having taken the same --

TIGANE] T Tehehed TN --- TAHHATAGTH - 6-1-4-17
This FH is from — AT GFICAT: HETTAHRITRIITH --

After faarg, the 9fd and 9=t will be treated as one and they will have combined
31TFR in F&s and will have the same rights on all the things (wealth).

Even 3AT9¥d&<d[ed{AH rules --

IOTEUIcHecd e qUIhey T
(JUIHY o = Yeall partakes in the JUF of Ifd but not in the AT of Tfd) |
On the contrary , Patanjali under C@ﬂm (9T 4-1-48) says — Ycail partakes in

the
qrq#. of Ufct as well —

HETHTSTH —
aqm‘raqéao—crqwaraq?r ¥ EgEt 3Hd Frf>acard srcjehdre] aurteFeane
T TF TSSUAcHATY oo |

Therefore, GI&TT for a T is not permitted by 2METs.

What about examples of amreft, etc.?

These sAMTfA seem somewhat indicating that women were allowed to take as well
as give &I8TTH s.

Most of these quotations are popular.

QaHIHATET is a G1TH, also called ATFRIRIESA - it has to decide the meaning / purport
of Vedic sentences / texts (Vedic exegeses’).



17

In this JIT we follow SITAIYEHIATHT (there may be HIRISHETHIAT etc.) and

IMIETFIEAHAA|

TR el ARIOTH etc is not applicable in this Fed |
Dilution of ferseraX is seen across the country --

some people are doing gdd1 (gd:) with pants and shirts.
JTATAR ( doqd ) is 3frsear|

We come across 37ddhs with vests in temples across northern India.
TATEIATEATST: (31T -2 ) - is interpreted as - g, 9T etc by Wﬂﬁﬁmzl

The Director of a famous dsUTddI& gave me a copy of HArATSTH with commentary,
HdYhI, to find out the instances, where it went against qﬁﬁWI Even after one
year | do not find time.

You may read between the lines.

There are many books in Indian vernaculars which advocate 31af¢aaverys and we
cannot do anything to arrest this tendency --

o JETUAS STAA I HHASTIATH (3T, 3-26) |

The following may be relevant (foTaf@ety:) --

Fah'U'ITJT aan?ﬁamT QLGOI = EI?-TQHTI
TNt ATRIARY e fasuiaT eieed Tl T XTUTH

?:Iﬁf IEREERED] Q;ﬁvrr arfy Wl
U ATEYRIY ST qolwcaaansd EIRRIERE

oA feTAA e, Fufaamti

HTETTR &R FRRE - 33, 3- faersafaeayat: |

g = e (Fafe:) , Fd

3TTALAE: = one accused of TEITHAH (sometimes other HETITT also )

*kkkkkkkkkkhkhkhkhkkkkkkkhkhhhkhkhkhkhhhkkkkhhhhhhkhkhkhhkkhkhhhhkhkhkhkkhkhkkkhhhhhkhkhkhkhkhhkkkhhhhkhkhkhkhhhkkkhhkhhkhrkx

AT CT AT ( FHIg6-7-40 )
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There is a §9H --

SIS AT HIET: ... [ARTGSIHAT FeHHaaIH]
Here the #YHTHT is about the meaning of ' HgEHACHIH - there are eight TaU&T: |
Then the FAgYTd is --

3MgIfer ar HfAHEI AT
aTereg Y&l STt -- all the eight Td9&Ts are untenable .

Since the THA -- GgATAcTIH, when taken as it is (one thousand years) is difficult
to apply to humans, there is no other go but to resort to &&7oTT / 371ofY|

Mol is to be applied to "HgH’ or 'HAHI'?

mammmtemmﬁvm@—qmmmmﬁa—a
-MEFCIUhTof Somanatha .

How to decide?

Since the term W has got the E:I'CZIT2frand has got the capacity to render a
single meaning - ' one thousand ' there cannot be itofT|

On the other hand, the term ' Hacax'is 39YT=Tand has got different meanings - year
due to HRHAT, AlegAT etc (SATATH - RgHTeaEaa4: ) and as the meaning
cannot be decided it becomes a JiUTersg; --

SEIICH chquw Al Wéﬁraawmwﬁ—zr aJ TSI | HIEUG d
durucq|cul<u|raﬂalqudqoluululwlcdd T rfreTararaTaicitr safdlibid

So as such - since you have interpreted the term ﬁIT:IFr as TdrATafRSe: fad@:here
also the word HacfX means a &ad ( 318:) -

TEATICIgET e IsCHTHS I G ady Hacawerss: | " Pgerfeus: Faafafrses sgecad
" ibid .

Then there will be 3TTRTEAT -- ATATATTIRITTH =THIahcas --

ATelH 3c9elH - one blue lotus - there is an acceptable meaning rendered by both the
words combined -

but here if you say — Gg@HdEH means one thousand years , since a man does
not live for so long the Hmmr@wmls gone - so take HacaLrsGas JiluTand
interpret as - one thousand days ( day is daytime - 31g: ) |

AU T&TUTe ST, SIAYTs: | dlcATeqa i T&ToeleH Sideredr: |
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AFIHHT &0 3T ﬁuﬁrﬂ |

HEHHACHIH - "HIATEdaA: A e a1l AT (9T g 2-3-5) - ATFA3E|
THATATRIGRUIH is of four types - qsﬂuwnswaﬂwa 3-3-9 -
IEATHTIA T Shea I TUTIET: |

kkkkkkkkkkkkkkkkkkkkhkkkkkkkkkkkkkkkkkkkkkikikkkikkkkkkkkkikikkkkkkkkkkkkkkkkkkikkx

1.SAYUTATHTSAT 49T ... AATASITEHVIH (2437EATAT:) - 1 & 2 AT gRIquiaATat

2. AT ... AAIY 37T 3 (?)

3ﬁqmﬁmﬂm---aahvmmwﬁ IR geaeer [afgdn: — a7 11
®T: - dd: ' AYUA .. | Mg - 9-1-9-33

4. 37 STEIA -- TR -- 5-5
5.3 STEIe — Aferdrarsm - 2-1-2-3, 12

6. 3TFsh JollHg --- FIdG - 7-59-12 ;374ddg - 14-1-17 ; (mdroi)qmuow{-i/m‘ﬂﬁ?r
-- 3-60 ; dfITE 1-8-6-2 ; f%aFdA - 14-35

7. [aaATeTEreT: -- Jgal. 39 - - 2-4-12

8.3 AT .. -- FETHTSIH - GEIRMTEARH — IE] TISFH ...
9.2d e — H>ZUfAY 6-22 ;HETHRHA - ( AMied ) - 12-224-60
10. gEfAET arFpiade - dANRgTH 6-1-1

1. A-AgdGaed AU, JTCAITATIATT — =G+ 2-1-68

12.9[H: --- may be in dATUSISTEHUTH]|

kK K K K K K K K K K kK K K K K K K Kk K K K kK K K K K K K kK K K K kK K K K K K K k K K K k K K K K K %k k K K K k Kk K k k *k %k k %

In HATTEHIOTH( 31EAT1 TIG2 ) of EHIATET, Jaimini takes up the discrepancies
across Vedic literature and responds --

(The same discussion can be seen in FIAGHTSAITSHHATOIHT of TIUTT)

e -

TCHATEAT , AT TATAT, FEUATEAT, HTACTATATIA, Hlclol IFHTHT,
ATV, TaTCARIae T, A, AT aaae, FHeaTASera]|
3 g, T 1-2-4-31

srfagfasard --
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There are some contradictory statements across Vedic literature --
1. srfefar: gat: ifefa: seafeta (d3m 1-13) , (3¢8 1-89-10)

2. Teh U9 T of GIAIAraaed (11-8-6-1) WgHTTOT g @l A FaT: (& 4-5-11-1),
(aTE16-54)

In the first instance the same 31f&fd is g3l: as well as =dR&TH ?
In the second - there is one ¥¢ and there are thousand ¥gs ?

In STEHUTHTT, 31aTGs ( Q—T:IDPIﬂFﬂ?[) are meaningful but not in A-IHTIT | Therefore ,
such Heds are not to be useful in a JTT !

rfafrsee] arerard: 1-2-4-32
The areaTy in @i and 9 is the same .
Irond Jifaufaseraard 1-2-4-39

The words in the above #==s are FMT ( not T ) - in &Ik, a person who provides
food and shelter is praised thus — ca@®d HATAT TIdT cadd| Same is the case here also

- yfefa gt e fa: s-anear|

Similarly , if the intended ITeT is TeheacdH , then there will be a single & and if there
hundred s , i e 2A¥geacaH, there will be hundred ¥gs .

' TG T -- Uehedcd# ( IHIT:)
UATGICH T’ T - ATCS: - AABIGTH / AT
There are two chapters in 2TdSIGIH — THSH and THEH|

faferater: -

ST -- in a IWT — AFASH is used in &RERT whereas TH®H in TATLRT|
In 37T it will be (both) on the 8th day.
THATH -- both are used in TGITAYSH |

If Tgis at so many places it means just like Td @iede sied, @ fasorHT 91, @
frgHT S9T — i e looking into everything with %wwaa%/fﬂaaaﬁ
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So interpret any such instance with the help of HTHTET, but not pure logic - it may fail
you.

Since people set aside the study of daIFIRMEAH and started embracing dry logic
there are so many problems.
Pl refer to qUTUTs for classification of ¥gs etc.

In the regularﬁ?l?rfrtrmwe take agGITEIEITOT|

kkkkhkkhkhhhhhhhhhhhhhhhhhhhhhhhdhdddhdhhhhhdhhhhhhdhdhddddrhhhhhdhhhhhhhdhdddrdrhhrhhrhrhdrhiiidd

The origin of some =1 --
These are from 3TV HENH -

In TehenteCY of SATITETTERTand HIMTIRTSE (HIReDIADN) of faaaTITsHI=I3reerard
they are seen. aITeTer borrowed in TEH>SIIT |
My 1980 memory failed me - vaguely remember having seen in IRETITCHTSTH (

and are commented by #TeRTER in his FAT TG |

ersar eaferes quies Aeganieerar eafe: |
o FHIeAT AT 1
N Hﬂ'aia ’5||9||("'|°'°'|’{'('| d|E'¢|(‘||
ai’l—nhmmﬁ?ra?fqﬁ}gr\ﬁﬁ?ml
q’d\qqﬂ'{chd'eﬂiﬂg('qld qﬁ'{'“ldo‘ﬂdl

3cUeet: l faeTee &:3fa geerfeaarn (HreraR=de: 164, 165,166)

kkkkkkkkkkkkkkkkkkkkkhkkkkkhkkkkkkkkkkkkhkkkhkkkhkkkhkkkkkkkkkkkkhkkkhkkkhkkkhkkkkkkkkkhkkkhkkkhkkkhkkkkkkkkkkkkhkkhkkkkkkkkk

*

QAHTATET - dTeel:

It is Sabaraswamy , who , unnecessarily , started discussion on the so called

faagifcusasa ---

@ a1 FAeId HTARITeHTTE dedieald, (ST A3 R_adTTgeFdcan oo , T T
eI AT 1 A 4H6) |

TR ATEFRTcdIcHTEeTcdel GacTH]|

IEUTTcT THCHEIT = o e A= |
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AT TGRS T CaATATH Y dIRERUTshede] SOl HIEANICH AT

qAATTRIIOTH - SEAGARASHIATIH (1-3-33) -

I 7 ARG searfcdacaie it Deaefr snfaafgear Tawus Al TREar
Seared: |

AR Ao ;7 T ACIATE dH ST i Held Aerdd | smaafae —
T Saard gaeed T HeTHT CqRIGaNehRSTe( Vsl 3-8-1) | ... SR
ATl ASUT FHAHATIAICHTcalcasTdict Saaaarerie; ATRIqH [TcgaTieserA Ty
gHafa |xafa & AR a 3McTeT T RRedeTaT YoeTd [T caraear

ST YcgeT eagieaial THAA [IE] A SaTellodalaliad qaAT ATEd
carfefa-egage AHLAfAfa @ SEedfesd gfavdd|... aEAIqUYesT - He AT e - SaTdHl
faorgacarteeT:|...

There is IOTHIASSIIAHA — I Gailc JoREAY TL&T: JoT: FIOTIAG oA Afg 97| ...

So one can prepare a fa3rg / IfdAT (with rice-flour / clay / turmeric /stone etc ) of
geeeddT - do WUTHTASaIYeT# - and perform G|

Building some structure following 9><T3 and other 3TITH-s has been there since

time immemorial .

hkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkikk

TShYhIUS: ---

1. Samkaracarya and Ramanujacarya quoted HgehS(UT)hIUSHAH in TaTATTHIHIUTH -
g SeTedacd dgeaH (3-3-28-43) -

T T — TG Fght — el a7 SaATGUHI AT 3Tl |
HATSII AT AT -

TSI GadThIusH |

AU -

HPSAA HHPUSTYAT HATASE Thel HIETT ITAA STAHD GadTehUSH AT
gTdd |

g TEan IR A -
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eI HehverIUs] o qadiaarTe gafdd: | fehed
m%mmﬁarﬁammﬁw—amﬁw JeaRRISe: SCE R ETIC I
SUETASRTATR U YehuTeh: Fafelar: | o f§ @ Sadiaaror 3Usha STHERY ared|
...... AT Heht SaTIUTERTEAY SUATSATIEY AT Ed o a1, YA SacTrartee:
Hﬁaﬁﬁﬂﬁal—cﬂ TS T e AT S T ONT: eI a ... Seaty

CERIIESI R R S e TFGHUSEIT SaATHIUS ST TagRyI TN aear
éc—rfrcrraram

Hrorsy --

1. Tl HehYOT — AT aT GacTgYeFealc |

2.1 gieehR: — TellcehATaTHTG e} SEeATaTa TGyl |

3. AfedAdToRRS ATHARIT NSATeTUATT (FHTEHATTAT VhATEIH - see

HETATFITaAR: for details).

fTATEAS TRIeRT: - Qrcqwol --

CATRTUSANCTAT ATHTSAHN: TRIEIAH | ‘Tgerd Ty 3 & FAogeretfed|
deledar: - ARTATTST: -

IEfTAEEY g T AT AUICAIshecalcdaledl hilaaR: TUH HRIST 37ATar
ST Wl HHUT T T TaR I aToT YA AT ATA AL

FecaTalicdod Scdedel |
TEITTHE, AYGATIE T --

aar {-ISOhNOhIUSJ-Iu-IIéIdd“CéIIcH% SfAfAYTa# | aoa Saarrvsasar yfbcyAT™
5q|ao1|{,qqna-|s||dq|qchcq|canH|H|H|a|da-|qI

IEREATHY (10-4-32) -- FEaseaefdehre™ aaeafaRia gy agad|
CATGRTEATY —-
ofe] ¥ TS sehe et 3NTETAT AT aT JAT Teeiidedaegad 3T Heny a&Tfa|

So here, Sriramanuja, by quoting the first Sutra of qﬁvﬂﬂm and the last Sutra
(F3cdTd....) of Samkarsanakanda, it can be surmised that - according to Ramanuja
the SYSLreT&Tof is applicable to F|

CIAREIDIS AT ST --

3P AdCTedleT She U AT i CaaTftenior ifaarer:shdr:, HAAT TUT e
mﬁ%aﬁ%%mﬁ%aﬁmﬂl

STTHAYTATOY AT -
FITAAl AfA: FHUT: BAlTITE: FHACUTHIIAY |
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Scholars feel that - it is faRrfcreraTolt #HiaTaT — SIsereTeTol AreREaTAYofar Teieoh
SIEIIIUYUiAr| Even present day Visistadvaitins feel that Kasakrtsna was not at all
the author of TsHY®US |

SEATET (p XX) by HHAGTS deehe{gIRTATTSTARIS (Editor) - Samkarsakanda of
Jaimini Muni (Sri Venkateswara Vedic Uni , Tirupati, 2009 --

T < HFhYehIUSehcjca [ A9 ST elehcled IRIecEaiehacd A iaT TS afcy
AT GadThIUSEY WISATCARIE éﬁﬁﬂma@awﬁﬁﬁﬂﬁl

AHTSIRRI e TAATTHROT ,d("-lc\ddo-l%lls'gqo{dﬂriIo:i,{-II{UI , [deaATSATGadete 7 dda
QiaqFlcala\l

gATCar HrErar



